E21119

Mounting set with protective cover for photoelectric
sensors
04 PROTECTIVE BRACKET ROD

1 36

M5

C7 A
3 /‘\ 3
©
N S H
y e 4 .
C :
220
210
)
[sp}
! - 1
29,8
216
212
J-: !
14
55
Application
Design clamp mounting, with protective cover
Mechanical data
Weight [a] 478
Materials stainless steel (1.4404 / 316L); Clamp: diecast zinc

Accessories

head cap screw: 1 x M10 x 120
Nuts: 2 x M10
washers: 2
nut: 1 x M5
head cap screw: 1 x M5 x 16
cylinder screws: 2 x M5 x 30

Accessories (supplied)

ifm electronic gmbh « FriedrichstraRe 1 » 45128 Essen — We reserve the right to make technical alterations without prior notice. — EN-GB — E21119-00 — 23.02.2007 — £



E21119

Mounting set with protective cover for photoelectric

sensors
04 PROTECTIVE BRACKET ROD

Pack quantity 1 pcs.

ifm electronic gmbh « FriedrichstraRe 1 » 45128 Essen — We reserve the right to make technical alterations without prior notice. — EN-GB — E21119-00 — 23.02.2007 — £



